ARAHAN : Lengkapkan sifir bahagi di bawah.

Sifir Darab 10

Il x 10 = 10

2 x 10 = | 20

3 x 10 =| 30

4 x 10 = | 40

5 x 10 = | 50

6 x 10 = | 60

7 x 10 = | 70

8 x 10 = | 80

9 x 10 = | 90

0 x 10 = 100

N x 10 = 10

2 x 10 = 120
ARAHAN : Lengkapkan
@ 20 + o =| |
ol |+ 10 = 1
QO 40 -+ 10 =]
gl |= w = 3
) 50 + 10 =] |
H 60 - = 6

Sifir Bahagi 10
0o =+ 10 =
20 + 10 =
30 + 10 =
40 -+ |10 =
50 + 10 =
60 = 10 =
70 + 10 =
80 <+ 10 =
90 =+ 10 =
00 =+ 10 =
o+ 10 =
20 + 10 =
g 8 =+ 10 =
h) + 0 = 7
D 90 - 0 =
j) 100 - = T
k) 10 -+ 0 =
); + 0 = 12
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